MATH 151.02 GROUPWORK 6 December 1, 2009

NAMES:

1.(4pts.) If you have 100 feet of fencing and want to enclose a rectangular area up against a long, straight
wall, what is the largest area you can enclose?
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2.(4pts.) A hemisphere of radius 1 sitson a horizontal planc. A cylinder stands with its axis vertical, the

center of its base at the center of the sphere, and its top circular rim touching the hemisphere. Find the
radius and height of the cylinder of maximum volume.

r287 =| Y =2yl < i-e> )/p [
s =42 a=r ) p3
Vet =T (4—~43)
V)= 1-38) 2o
2 |~342 =0

{'—.'g\?-: {-.—’_2,:'\-—- 2. -} . :+_L
7 ﬁ 3 “6 “3‘ ~—>vi‘v --U—j-’

2,'3}—3-127 = |00
Y= 00 ~-2.X




3.(4pts.) Which point on the parabola y = z? is nearest to {1,0)? Find the coordinates to two decimals.
[Hint: Minimize the square of the distance - this avoids square roots.}
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5.(4pts.) Find lim (1+2)'/* = £, e
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